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Dora thinks there Is more than £5 but less than £6
s Dora conrect?

Convinceme.




image2.png
Rosle has § siivercolnsin her purse.

She can make 40 p with three coins
She can also make 75 p with three coins.

How much money does Rosie have in her purse?
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Dora spends £7 and 76 p on a birthday cake.

She pays with a 210 note.
How much change does she gef?

The shopkeeper gives her six colns for her change.
What colns could they be?
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Dora bought fhese muffins.

o o

Muffins cost 35 p each
How much did Dora spend?

Tommy bought fhree fimes as many muffinsas Dora.

How many muffins did Tommy buy?
How much money ald Tommy spend on muffins?

How much more money did Tommy spend than Dora?

White
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s )

He buys @ pencilfor £1 and 20 p and a book for £1 and 45 p.
Which bar model represents the question?
Explain how you know.

£ 2

21 and 45 2land20
P 2

Use the correct bar model fo help you calculate how muchchange
Amirreceives.
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Three chilcren are calculating £4 and 20 p subfract £1 and 50 p. White
24-g1=22 Annle
20p-50p=30p

£1+30p = £ and 30 p

The difference s £2 and 70 p.

O NS
Teddy roonom

£4nd 200 52 - 22 and 0p 3
S2cnazp 1 s0p - 2o 7op e @
Who s conects Who lincorect?

Whichmetnod do you prefer?




